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1 100kN/mz#x%| 100 000 ~ 3.04 148.29 |3m%i#E% 5| 000 ~ 0.39( 3.23 16.33 | 100kN/m#%# x5 | 1.00 [10.84 ~ 25.80 148.29 |3m%i#E%5|25.00 ~ 25.80 | 3.23 16.33
LS 100 | 3.04 ~ 10.82 100.00 | €15 | 039 ~ 10.82 [ 3.00 15.16 LS 100 | 500 ~ 10.84 100.00 | £+ L5 | 500 ~ 25.00 | 3.00 15.16
2 100kN/mi%#x%| 1.00| 000 ~ 239 137.32 |3mZE#EZ D -~ - — —| 100kN/m%# 25| 1.00 [11.05 ~ 20.78 137.32 |3mZE#EZ D -~ - - -
LS 100 239 ~ 10.17 100.00 | x5 | 000 ~ 10.17 [ 2.92 14.75 LS 100 | 500 ~ 11.05 100.00 | £x L5t | 500 ~ 20.78 | 2.92 14.75
3 100kN/mi%#x%| 1.00| 000 ~ 285 14513 |3mZE#EZ D -~ - — —| 100kN/m%#EZ 5| 1.00 [10.97 ~ 24.21 14513 |3mZE#EZ D -~ - - -
LS 100 285 ~ 10.64 100.00 | 45 | 0.00 ~ 10.64 [ 2.90 14.66 LS 100 | 500 ~ 10.97 100.00 | £x L5t | 500 ~ 24.21 | 2.90 14.66
4 100kN/mi%#x%| 1.00| 000 ~ 352 156.71 |3m%i#E% 5| 000 ~ 2.10( 3.93 19.87 | 100kN/m#%# 25| 1.00 [10.61 ~ 5245 156.71 |3m%i#E%%|30.00 ~ 52.45| 3.93 19.87
LS 100 352 ~ 11.30 100.00 | £x L5t | 210 ~ 11.30 [ 3.00 15.16 LS 100 | 500 ~ 10.61 100.00 | £+ L5 | 500 ~ 30.00 | 3.00 15.16
5 100kN/mi%#x%| 1.00| 000 ~ 0.99 114.88 |3mZE#EZ D -~ - — —| 100kN/m%# %% | 1.00 [1055 ~ 13.51 114.88 |3mZE#EZ D -~ - - -
LS 100 099 ~ 878 100.00 | £xLLi5t | 000 ~ 8.78 | 2.22 11.24 LS 100 | 500 ~ 10.55 100.00 | £x L5t | 500 ~ 13.51 | 2.22 11.24
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